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1. ZTE RN AL BE : YR AN B R B B O A, B JE FE BT, IR AN e R BcE (104 AN ¢ 4R
BUREAARF (mL) 25 500~1000: 1 LR G 500 J74HREBRANMIIIN ImL $REUHED, HE 75 I AR R 41 i B
aHiE VKIS, ThE 20%5k 200w, HS 3S, [AIFE 10S, FE 30 X); 8000g, 4°CE.Lr 10min, HU Lif,
BIK EAEN,

2. AR RBASRE (@)« WBURER (ML 1: 5710 RIELH] CGRIREIRZ 0.1g ZH4, A 1mL
BRI, KB A)% . 8000g , 4°CE.L 10min, HX bk, Bk BT,
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2. SEBAESH (Tl 10 &) - BEP B3, I ee0nL RN, A 100uL iRF=, HHE
)G, BN 240w L WRFPY, FEOMRSIAMH: BB O NG, HAENDNBHSY; Ban
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1. 7 1mL B AL T A
M5E 660nm LRI A, SM5H1EH A XA A W5E, AA=A JE-A X,

TPP E/ITHE:
FRUEZAF TARMEMIZE Ny v = 3.8806x - 0.0036, R2=0.9985; FHrt x JFybru kA, 1 mol/mL,
y ABIEEAA.

1. HREOREITHE

HALHE G B mg HAE A RHE =4 Inmol TEHLEEE SCN— MBS JJ AL, TPP ¥ 77( nmol/min/mg
prot)= ( A A+0.0036) +3.8806XV i+ (V #:XCpr) -TX1000

=17.18X ( A+0.0036) < Cpr

2. EEEALFETE

AL E L g AL BEN =4 Inmol TEHLBERE SN — B 7 54

TPP % JJ(nmol/min/g #£EE)= ( A A+0.0036) +3.8806 XV Sz.isi+ (WXV £+V FEiE) +TX1000=17.18 X
( AA+0.0036) +W

3. HRHERAREETE

BT S 1 AN S B A A B A TR A Inmol TEMLEE E SN — ANERIE S, TPP R
(nmol/min/104 cell)= ( A A+0.0036) =3.8806XV i+ (V FEXZHMu%kE) +TX1000

=0.034X ( A A+0.0036)

VB RERREAR, 03mL: VAR IIAREARMAEEL, 0.15mL: Vv RS IIAREURAR, 1mL; T:
SBIEFIE], 30 min; Cpr: FEASE HRIKE, mg/mL; W: FEATIE: 4iffa%kE, 500 /5 1000, wmol Z| nmol
SESC S g8



